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 EEC-007  

BACHELOR’S DEGREE PROGRAMME  

(BDP) 

Term-End Examination 

June, 2022 

ELECTIVE COURSE : ECONOMICS 

EEC-007 : INDUSTRIAL DEVELOPMENT IN INDIA  

Time : 3 hours                            Maximum Marks : 100 

Note :   Attempt questions as  per instructions given in each 

section.   

SECTION A 

Attempt any two questions from this section. 220=40 

1. ‘‘Economic growth is symbolic of rapid 

industrialisation in modern times.’’ Examine and 

elaborate this statement. 

2. Changes in composition of Gross Domestic 

Product and occupational structure in India do 

not match with the growth experiences of other 

developed countries. Give arguments in support 

of your answer. 

3. ‘‘Increase in aggregate expenditure is key to rapid 

industralisation.’’ Do you agree ? Give reasons.  

4. ‘‘For rapid transformation of the Indian 

industrial sector a set of economic reforms are 

required.’’ Examine this statement.  
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SECTION B 

Attempt any four questions from this section.  412=48 

5. Why was the jute industry in its early stages of 

growth concentrated in Bengal ?   

6. Differentiate between ‘import substitution’ and 

‘export promotion’ as strategies of industrial 

growth. 

7. Examine the pros and cons of Foreign Direct 

Investment in India.  

8. What do you mean by ‘disinvestment’ ? Why is it 

needed ? 

9. Make suggestions for balanced regional growth in 

India. What role can industry play in this  

regard ? 

10. Make suggestions to protect the environment 

from adverse effects of industrialisation.   

 



EEC-007 3   P.T.O. 

SECTION C 

11. Write short notes on any two of the following : 26=12 

(a) Household Industry 

(b) Subsidies  

(c) Drinking Water Mission 

(d) Jobless Growth 
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ñZmVH$ Cnm{Y H$m`©H«$_  
(~r.S>r.nr.) 

gÌm§V narjm 

OyZ,  2022 

EopÀN>H$ nmR>çH«$_ : AW©emñÌ 

B©.B©.gr.-007 : ^maV _| Am¡Úmo{JH$ {dH$mg  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ ^mJ _| {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE & 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 220=40 

1. ‘‘AmYw{ZH$ `wJ _| Am{W©H$ g§d¥{Õ Vrd« Am¡ÚmoJrH$aU H$m 
àVrH$mË_H$ ñdê$n ahr h¡ &’’ Bg H$WZ H$s g_rjm Ed§ 
{dñV¥V ì`m»`m H$s{OE & 

2. ^maV _| gH$b Kaoby CËnmX Am¡a ì`mdgm{`H$ T>m±Mo H$s 
g§aMZm _| n[adV©Z AÝ` {dH${gV Xoem| Ho$ g§d¥{Õ AZw^dm| 
go _ob Zht ImVo & AnZo CÎma Ho$ nj _| VH©$ Xr{OE &   

3. ‘‘g_J« ì`` _| d¥{Õ hr Vrd« Am¡ÚmoJrH$aU H$s Hw§$Or h¡ &’’ 
Š`m Amn gh_V h¢ ? H$maU Xr{OE & 

4. ‘‘^maVr` Am¡Úmo{JH$ joÌH$ Ho$ Vrd« n[adV©Z Ho$ {bE 
Am{W©H$ gwYmam| Ho$ EH$ g_yh H$s Amdí`H$Vm h¡ &’’ Bg 
H$WZ H$s g_rjm H$s{OE & 
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^mJ I 

Bg ^mJ go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & 412=48 

5. g§d¥{Õ Ho$ àma§{^H$ MaUm| _| nQ>gZ CÚmoJ ~§Jmb _| Š`m| 
H|${ÐV hmo J`m Wm ? 

6. Am¡Úmo{JH$ g§d¥{Õ H$s `w{º$`m| Ho$ ê$n _| ‘Am`mV 

à{VñWmnZ’ Am¡a ‘{Z`m©V g§dY©Z’ _| A§Va ñnï> H$s{OE & 

7. ^maV _| àË`j {dXoer {Zdoe Ho$ JwU d Xmofm| H$s g_rjm 
H$s{OE & 

8. ‘{d{ZdoeZ’ go Amn Š`m g_PVo h¢ ? `h Š`m| Amdí`H$  
h¡ ? 

9. ^maV _| g§Vw{bV joÌr` g§d¥{Õ Ho$ {bE gwPmd Xr{OE & Bg 
g§~§Y _| CÚmoJ Š`m ^y{_H$m {Z^m gH$Vo h¢ ? 

10. n`m©daU H$s Am¡ÚmoJrH$aU Ho$ Xþîà^mdm| go ajm Ho$ {bE 
gwPmd Xr{OE & 
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^mJ J 

11. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  

{b{IE : 26=12 

(H$) J¥h CÚmoJ 

(I) gmhmæ` 

(J) no` Ob {_eZ  

(K) amoµOJma a{hV g§d¥{Õ   

 


